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mi = I.S%v = 30.0 N/mf
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100
X>T m = 30.0 N/mf
(3)KkEAV FEE(W/C) m = -12.2 + 24.4 X C/W
W/C = 24.4 + (30.0 + 12.2) X 100 = 57.5 %
W/C = 57.5 %
(4) HfrK & (W) WTHOFEFKICEY W = 159 ke/ni
(5)HfSrE A F&E(C) C =W + (W/C) X 100 = 159 = 57.5 X 100 = 277 kg/m
Cv= C —+ J:ajrg = 277 = 3.04 = 91 L/nd
(6) 2258 (A) A = 4.5 % X 1000 = 45 L/m
(7T)EM=E(s/a) MTHOFERKFICLY s/a = 42.7 %
(8) B B%”M%(S) Sv = (1000 — W+Cv+A)) X s/a = 705 X 42.7 % = 301 L/m
Slv = Sv X 70.0 % = 211 L/m S1= SIvXHEWEE = 211 X 2.58 = 544  kg/mi
S2y = Sv X 30.0 % = 90 L/nd S2= SoyXEHEF = 90 X 2.65 = 239 kg/m
(9) HALH M & (G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 596 = 404 L/m
G = Gv X EWEE = 404 X 2.65 = 1071 kg/m
Gl = G X 20.0 % = 214 kg/m
G2 =G X 30.0 % = 321 keg/m
G3 =G X 50.0 % = 536 keg/m
(10) BARFAE (Ad) Ad = C X IR X ZEFE = 277 X 0.70 % X 1.00 = 1.94 kg/m
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